BERERICETILR(ERLER) R EKR N

SHUEESARE
BXZEBER
EDeH BRBE [F—hrE BEEE | OofKY | ELhd | BRbol EREESR| » %
BENE b B Ir
S SHITTE 9 3 1 0 0 2 0 1 0 0 0
T304 14 6 5 1 0 1 0 0 1 0 0
B SHEE 8 4 4 0 0 2 0 0 0 0 0
304 15 6 3 0 0 3 1 0 0 0 1
S— SHITE 13 1 0 0 0 4 0 0 0 0 0
Bb N
T304 16 3 3 0 1 2 0 0 2 1 0
—— SHTE 8 2 1 0 0 0 0 0 1 0 0
TR30%E 12 1 0 0 0 1 0 ) 0 0 0
I SHTE 31 1 0 2 2 4 0 1 1 0 0
’ EH30E | 33 2 2 0 0 8 0 3 3 1 0
AR ERICET IR EASTERREERR
SHTESARE
3 = F3 % : 33 [
B Om (WEEL) | N B (MEER) | B M O (BEEH) | A B (MER) | & W (HEER) | A B (KHER)
R P R 0 0 0 0 0 -2 0 -2 8 | 1 12 +3
wRE YR 0 0 () 0. 0 0 0 0 7 -6 8 -6
By R 0 0 o | o 1 -1 1 -1 12 +2 14 +1
#* B 2R 0 0 0 0 0 -1 0 -1 1 +1 12 0
2B ¥R 0 0 0 0 1 +1 1 +1 29 -14 35 -12

Bt - BRBREEREZ 1 10T ~-ERXOHERFIIVILA9110

D)

— =

XN
HA XN

-

o/




